[bookmark: _GoBack]Maths for this week:
PLACE VALUE

Please ignore the number sequencing of the questions. I have attached the answers for marking too (I hope it makes sense!).

FLUENCY:
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Could you ask an adult to give you some more numbers to add to your place value tables. Can you tell them the value of each digit?  Could you then ROUND each number to the nearest 1,000 or 10,000?
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Could you create one of these ideas; ask an adult to write down a few numbers up to 1,000,000.
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Reasoning and problem solving:
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CHALLENGE TIME!
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2a. Complete the part whole model. 2b. Complete the part whole model.
Find more than one way. Find more than one way.
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3a. Does the radar chart represent the
number 761,9007 If not, correct it.
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3b. Does the radar chart represent the
number 825,5007 If not, correct it.
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4a. Erik is reading the number 430,980. 4b. Bea is reading the number 840,832.

Eight million, four
Forty-three thousand, eight
thousand and
ninety-eight tens. hundred and
9 - thirty-two.

Is he correct? Explain your answer. Is she correct? Explain your answer.
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8a. Complete the part whole model. 8b. Complete the part whole model.
Find more than one way. Find more than one way.
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1. Emma has an abacus with counters representing a é-digit number. If she can only
move two counters at a time, work out which moves she could make to reach three
hundred and ninety-six thousand, seven hundred and eight (396,708).
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Record all the numbers she makes before reaching her target.
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2. Tom made three é-digit numbers using the digit cards below, but his cat left muddy
pawprints over his numbers and now he can’t remember what they were!

0 1 2 3 4 5 [ 7 8

He does know that his first number was between 300,000 and 500,000 and was a
multiple of 5.

His second number was an even number that was greater than the first number but
less than the third number.

His third number was the largest number. The last two digits showed a square number.
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What different combinations could there be? ¥ g » =




image1.png
1a. What is the value of the digit 7 in this 1b. What is the value of the digit ¢ in this
number? Write you answer in numerals. number? Write you answer in numerals.

746,100 698,000
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3a. Represent the number §95,600 using 3b. Represent the number 721,540 using
the place value chart below. the place value chart below.
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6a. Write the number below in numerals. 6b. Write the number below in numerals.

seven hundred and eighteen eight hundred and four
thousand, five hundred and thousand, nine hundred and
thirty-four twelve
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12a. Complete the bar model. 12b. Complete the bar model.
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